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] SMER O TimICHET 51 SERIMA
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 4.69 5845 | FnS | 000 ~ 4.69| 1.83 9.79 ThLst 1.00 | 5.00 ~ 56.00 58.45 | =nhLH | 5.00 ~ 6.00| 1.83 979
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.49 81.75 | #ns | 000 ~ 0.00) 1.66 8.86 FnLsn 1.00 | 5.00 ~ 7.90 81.75 | #hLst | 5,00 ~ 7.90| 1.66 8.86
3 100kN/m%z#Z5| 100|000 ~ 006 10087 |3m&EEZBl — ~ — — — | 100kN/m%E#8z5 | 1.00 | 1084 ~ 1100 100.87 |3mEHBZ3 - ~ — — —
st 1.00 | 0.06 ~ 7.84 100.00 | #nLSt | 0.00 ~ 7.84 | 2.32 12.40 st 1.00 | 5.00 ~ 1084 100.00 | #nLst | 5.00 ~ 11.00| 2.32 12.40
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 000 ~ 535 66.72 | TN | 000 ~ 535|202 10.83 ThLst 1.00 | 5.00 ~ 6.80 66.72 | TnhLSY | 5.00 ~ 680|202 10.83
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.62 83.53 | FnS | 000 ~ 0.00| 1.70 911 st 1.00 | 5.00 ~ 8.00 83.63 | EnLS | 5,00 ~ 800 1.70 911
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 5.61 70.10 | #4000 ~ 561 1.86 9.94 FnLsn 1.00 | 5.00 ~ 6.40 70.10 | =0 | 6,00 ~ 640 1.86 9.94
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.01 75.33 | EhS | 000 ~ 000 | 1.69 9.04 ZhLst 1.00 | 6.00 ~ 6.90 76.33 | TN | 6.00 ~ 6.90| 1.69 9.04
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 000 ~ 4.70 5861 | =nst | 000 ~ 0.00| 1.64 8.76 FhLst 1.00 | 6.00 ~ 5.00 5861 | TS | 5,00 ~ 6.00| 1.64 8.76
100kN/mM%EZ 5 ~ 3ImEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEBZ D ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEERD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




